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BIHAR BOARD QUESTION PAPER  

हिन्दी माध्यम / ENGLISH MEDIUM  

INTERMEDIATE EXAMINATION - 2011 
इंटरमीडिएट परीक्षा - 2011 

(ANNUAL / वार्षिक)   

BUSINESS STUDIES  
सभम : 3 घॊटे 15 मभनट]              [ऩरू्णांक : 100 

SECTION - A 

1. ननम्नमरखित 1 से 25 तक के प्रश्नों के चणय विकल्ऩ ददए गमे हैं, इनभें से केिर 
एक सही है। आऩको उन सही विकल्ऩों को चनुकय उत्तय ऩत्र भें चचह्ननत कयनण है : 

 

1. ननमॊत्रर् कण भखु्म उद्देश्म है-  

(a) मबन्नतण  

(b) विचरन  

(c) सधुणय  

(d) हणनन 

 

2. ककस फणजणय भें नमे अॊश कण ननगगभन होतण है- 

(a) प्रणथमभक  

(b) द्वितीमक  

(c) सॊगदित 

(d) असॊगदित 
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3. प्रफॊध की सपरतण कण प्रणथमभक तत्त्ि है-  

(a) सॊतुष्ट कभगचणयी  

(b) अत्मचधक ऩूॉजी  

(c) फडण फणजणय  

(d) अचधकतभ उत्ऩणदन  

 

4. विऩर्न मभश्रर् भें सह्म्भमरत नहीॊ होतण है-  

(a) भलू्म 

(b) उत्ऩणद 

(c) प्रोन्ननत 

(d) उऩबोक्तण सॊयऺर् 

 

5. प्रफॊध अॊकेऺर्-कणमग ननष्ऩणदन के जणॉच की एक तकनीक है-  

(a) कम्ऩनी कण  

(b) प्रफॊध कण  

(c) अॊशधणयक कण 

(d) उऩबोक्तण कण  

 

6. एक अच्छे नेतण के ननम्नमरखित भें से कौन-से गुर् होने चणदहमे ? 

(a) प्रमणस  

(b) सॊिणद दऺतण 

(c) स्िणमबभणन 

(d) इनभें सबी 
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7. केन्रीमकयर् कण अथग है-  

(a) अचधकणय कण धणयर् 

(b) अचधकणय कण वितयर् 

(c) रणब केन्र कण ननभणगर् 

(d) नमण केन्र िोरनण 

 

8. प्रफन्ध की एक अच्छी ऩद्धनत सभणमोह्जत नहीॊ कयती है-  

(a) सॊगिनणत्भक उद्देश्म 

(b) सणभणह्जक उद्देश्म 

(c) िमैह्क्तक उद्देश्म 

(d) यणजननैतक उद्देश्म 

 

9. बणयत भें उऩबोक्तण कण उत्तयदणनमत्ि है 

(a) गुर्ित्तण के प्रनत सचते 

(b) ियीद ऩय यसीद प्रणप्त कयनण 

(c) अऩने अचधकणय के प्रनत सचते 

(d) सबी 

 

10. गे्रऩिणइन है 

(a) औऩचणरयक सॊचणय  

(b) सॊचणय भें फणधण 

(c) सभस्तय सॊचणय 

(d) अनौऩचणरयक सॊचणय 
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11. सॊगिन के उद्देश्म को प्रणप्त कयने के मरए िहृद मोजनण जणनी जणती है- 

(a) नीनत के रूऩ भें 

(b) कणमगक्रभ के रूऩ भें 

(c) उद्देश्म के रूऩ भें 

(d) यर्नीनत के रूऩ भें 

 

12. व्मिसणम भें सॊचणय की प्रबणिऩरू्ग ऩद्धनत कण होनण क्मों आिश्मक है ? 

(a) भणगगदशगन के मरए 

(b) सचूनण के मरमे 

(c) ननदेशन के मरए  

(d) सबी 

 

13. कभगचणरयमों कण प्रमशऺर् है- 

(a) आिश्मक  

(b) अनणिश्मक 

(c) अननिणमग 

(d) धन की फफणगदी 

 

14. व्मिसणम के मरए विऩर्न है 

(a) अननिणमग 

(b) आिश्मक 

(c) अनणिश्मक 

(d) विरणमसतन 
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15. वित्तीम प्रफॊध कण भखु्म कणमग है- 

(a) कोषों को प्रणप्त कयनण 

(b) कोऩों कण उऩमोग कयनण 

(c) कोषों को फॉटिणयण 

(d) इनभें से कोई नहीॊ 

 

16. उद्ममभतण विकणस कणमगक्रभ प्रदणन कयतण है- 

(a) स्ियोजगणय  

(b) मशऺर् एिॊ प्रमशऺर् 

(c) कौशर िदृ्चध 

(d) सबी  

 

17. भणनि सॊसणधन प्रफॊधन भें शणमभर है- 

(a) बती  

(b) चमन 

(c) प्रमशऺर् 

(d) सबी  

 

18. विऻणऩन है-  

(a) विननमोग 

(b) अनणिश्मक कणमग  

(c) भरुण की फफणगदी  

(d) कोई नहीॊ 
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19. िऻैणननक प्रफॊध के जनक थे 

(a) एप. डब्लल्म.ू टेरय  

(b) उविगक  

(c) हेनयी पेमोर  

(d) ककम्फणर  

 

20. ननमोजन प्रफॊध कण कणमग है- 

(a) प्रणथमभक 

(b) द्वितीमक 

(c) ततृीमक 

(d) सबी 

 

21. फैंकों से अचधविकषग की सवुिधण उऩरब्लध होती है- 

(a) फचत िणतों ऩय 

(b) चणर ुिणतों ऩय 

(c) मभमणदी जभण िणतों ऩय  

(d) कोई नहीॊ 

 

22. व्मणऩणरयक सणि स्रोत है- 

(a) दीघगकणरीन वित्त कण  

(b) भध्मकणरीन वित्त कण  

(c) अल्ऩकणरीन वित्त कण 

(d) कोई नहीॊ 
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23. ननम्न भें से कौन-सण उऩबोक्तण उत्ऩणद नहीॊ है- 

(a) कच्चण भणर  

(b) येफ्रीजयेटय 

(c) ऩयुणनी भनूतगमणॉ  

(d) जूत े
 

24. उऩबोक्तण सॊयऺर् अचधननमभ ऩणरयत हुआ थण-  

(a) 1786 भें 

(b) 1886 भें 

(c) 1996 भें 

(d) कोई नहीॊ 
 

25. बणयत भें उद्ममभतण विकणस कणमगक्रभ है- 

(a) आिश्मक 

(b) अनणिश्मक  
(c) सभम की फफणगदी 

(d) धन की फफणगदी 
 

II. ननम्नमरखित प्रश्न सॊख्मण 26 से 30 तक के प्रश्नों भें से प्रत्मेक प्रश्न भें दो कथन 
(कथन-I एिॊ कथन-II) ददए गए हैं। दोनों कथनों को ऩढे तथण विकल्ऩ (a), (b), (c), (d) 
से सही उत्तय चनुें:  
 

(a) दोनों कथन सही हैं तथण कथन-II, कथन-I कण सही व्मणख्मण है 

(b) दोनों कथन सही हैं, ऩयन्तु कथन-II कथन-I कण सही व्मणख्मण नहीॊ है 

(c) कथन-I सही है, ऩयन्तु कथन-II गरत है  

(d) कथन-I गरत है, ऩयन्तु कथन-II सही है 
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26. कथन-I : प्रफॊध एक करण है। 

कचनण-II : करण कण अमबप्रणम ऻणन के सदै्धणॊनतक प्रमोग से है।  
 

27. कथन-I : प्रफॊध के मसद्धणॊत सणिगबौमभक है। 

कथन-II : प्रफॊध कण ऺेत्र सीमभत है।  
 

28. कथन-I : ननमोजन एक भणनमसक कसयत है। 

कथन-II : ननमोजन आगे देिने िणरण है।  
 

29. कथन-I ऩमगिेऺर् ननदेशन कण एक तत्त्ि है 

कथनण-II : ऩमगिेऺर् ननम्नस्तयीम प्रफॊध है। 
 

30. कथन-I : प्रमशऺर् एक सतत ्प्रकक्रमण है। 

कथनण-II : प्रमशऺर् प्रफॊध के सबी स्तयों ऩय आिश्मक है। 
 

III. ननम्नमरखित प्रश्न सॊख्मण 31 से 34 भें दो तणमरकण ददमे गमे हैं। तणमरकण-I भें चणय 
प्रश्न हैं, ह्जनके उत्तय को तणमरकण-II भें ददए गए चणय विकल्ऩ (a), (b), (c), तथण (d) भें 
से चनुनण है :  https://www.bsebstudy.com 

तणमरकण-I     तणमरकण II  

31. ननदेशन    (a) ननैतक भलू्मों की यऺण की नीनत औय कणमगप्रर्णरी  

32. ननमॊत्रर्    (b) फैंक कणमगप्रर्णरी को प्रबणवित कयने कण अचधकणय 

33. आय० फी० आई०   (c) प्रभणऩ कणमग की तुरनण िणस्तविक कणमग से कयनण 

34. ननैतकतण   (d) भणनि के व्मिहणय को प्रबणवित कयनण। 
 

IV. प्रश्न सॊख्मण 35 भें एक उद्धयर् ददमण गमण है इसके सणथ तीन प्रश्न ददए गए हैं। 
इन प्रश्नों कण उत्तय ददए गए विकल्ऩों भें से चनुकय उद्धयर्ों के आधणय ऩय दें: 
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35. कम्ऩनी एक स्िहै्च्छक सॊख्मण है ह्जसकण ऩॊजीकयर् कम्ऩनी अचधननमभ, 1956 के 
अन्तगगत होतण है। सॊस्थण कम्ऩनी के यह्जस्रेशन के मरए ऩणषगद सीभण ननमभ, ऩणषगद 
अन्तननगमभ तथ प्रविियर् की आिश्मकतण होती है। कम्ऩनी दीघगकणरीन ऩूॉजी की 
व्मिस्थण सभतण अॊश ऩिूणगचधकणय अॊश एिॊ ऋर्ऩत्र जणयी कयके कयती है। एक ननजी 
कम्ऩनी भें अॊशधणरयमों को न्मनूतभ सॊख्मण 2 जफकक सणिगजननक कम्ऩनी भें 7 होती है। 
अॊशधणरयमों की अचधकतभ सॊख्मण ननजी कम्ऩनी भें 50 होती है। जफकक सणिगजननक 
कम्ऩनी भें अचधकतभ सॊख्मण असीमभत होती है। https://www.bsebstudy.com 
 

I. कम्ऩनी कण ऩॊजीकयर् ककमण जणतण है अचधननमभ- 

(a) 1956 के अॊतगगत  

(b) 1932 के अॊतगगत 

(c) 1912 के अॊतगगत 

(d) इनभें से सबी  
 

II. कम्ऩनी दीघगकणरीन ऩूॉजी की व्मिस्थण कयती है- 

(a) फैंक द्िणयण 

(b) रेनदणय द्िणयण 

(c) सणिगजननक जभण द्िणयण 

(d) ऋर्ऩत्र द्िणयण 
 

III. एक सणिगजननक कम्ऩनी भें अॊशधणरयमों की न्मनूतभ सॊख्मण होती है- 

(a) 9  

(b) 7 

(c) 50 

(d) 2 
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SECTION - B 

 

प्रश्न सॊख्मण 1 से 10 रघ ुउत्तयीम प्रश्न हैं। प्रत्मेक प्रश्न 3 अॊक ननधणगरयत है। 

 

1. व्मिसणम भें रणब की क्मण बमूभकण है ? 
2. सणझदेणयी व्मणऩणय के तीन रणब फतणइए। 

3. कम्ऩनी व्मिसणम को ऩरयबणवषत कयें। 

4. प्रविियर् क्मण है ? 

5. आॊतरयक व्मणऩणय को ऩरयबणवषत कयें। 

6. प्रफन्ध भें दऺतण क्मण है ? 

7. स्कॊ ध विऩर्न के क्मण कणमग हैं ? 

8. प्रफन्ध की विशषेतणओॊ कण िर्गन कीह्जए। 

9. िऻैणननक प्रफॊध से आऩ क्मण सभझते हैं ? 

10. वित्तीम प्रफॊध क्मण है ? 
 

 

प्रश्न सॊख्मण 11 से 15 दीघग उत्तयीम कोदट के हैं। प्रत्मेक प्रश्न के मरए 6 अॊक ननधणगरयत 
है 
 

11. ऩणषगद सीभण ननमभ एिॊ ऩणषगद अन्तय ननमभ भें अॊतय फतणइए।  

12. व्मिसणम के सणभणह्जक दणनमत्िों कण िर्गन कयें। 

13. सॊदेशिणहन से आऩ क्मण सभझते हैं? इसकी प्रकक्रमण कण िर्गन कयें। 
 

14. केन्रीकयर् एिॊ विकेन्रीकयर् के फीच अन्तय स्ऩष्ट कयें। 

अथिण 

अॊश एिॊ ऋर्ऩत्र भें अन्तय स्ऩष्ट कयें। 
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15 एक अच्छे नेतण के गुर्ों कण िर्गन कयें। 

अथिण 

बती के विमबन्न स्रोतों कण िर्गन कयें। 

 

 

 

 

********* 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2011 
इंटरमीडिएट परीक्षा - 2011 

(ANNUAL / वार्षिक)  

BUSINESS STUDIES 

Time: 3 Hours 15 Minutes]                  [Full Marks: 100 

SECTION-A 

I. In question nos. 1 to 25 there are four options but only one is correct. You have choose 

that correct answer and mark in the Answer sheet:  

 

1. The main objective of controlling 

(a) Differenciate 

(b) Deviation 

(c) Improvement 

 (d) Loss 

 

2. In which market the issues of new shares 

(a) Primary  

(b) Secondary  

(c) Organised 

(d) Unorganised 

 

3. The first element of success of management 

(a) Satisfied employees 

 (b) Excess capital 

(c) Big market 

(d) Maximum production 
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4. It is not included in marketing mix 

(a) Price 

(b) Product 

(c) Promotion  

(d) Consumer protect 

 

5. Management auditing work is technique of  

(a) Company 

(b) Management 

(c) Shareholder 

(d) Consumer 

 

6. What are good qualities in a good leader?  

(a) Attempt  

(b) Communication skill 

(c) Self-conficence  

(d) None of these 

 

7. What do you mean by centralisation? 

(a) Hold of authority 

(b) Distribution or rights 

(c) Creation of profit centre  

(d) New open centre 

 

8. It is not adjusted in management of a good method 

(a) Organisation objective 

(b) Social objective 

(c) Manual objective 

(d) Political objective  
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9. What is the liability of a consumer in India? 

(a) Alert to quality 

(b) Received receipt on purchase 

(c) Sincere to own rights 

(d) All these 

 

10. Grapewine is 

(a) Formal information 

(b) Hindrance in communication 

(c) Informal communication 

(d) All these  

 

11. A wide planning is known for get the object of organisation 

(a) In from of policy 

(b) In form of programme 

(c) In form of objective 

(d) all these 

 

12. Why it is necessary effective method of communication in business? 

(a) for guidance  

(b) for information 

(c) for direction 

(d) all these 

 

13. The training of employees is 

(a) Necessary 

(b) Unnecessary 

(c) Compulsory 

(d) Wastage of money 
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14. For business marketing is 

(a) Compulsory 

(b) Necessary 

(c) Unnecessary 

(d) Luxury 

 

15. What is the main function of financial management? 

(a) Received funds 

(b) Use of funds 

(c) Distribution of funds 

(d) None of these  

 

16. Entrepreneurship development programme gives 

(a) Self employment  

(b) Teaching and training  

(c) Skill development 

(d) None of these 

 

17. It is included in human resource management 

(a) Recruitment 

(b) Selection 

(c) Training 

(d) None  

 

18. Advertisement is  

(a) Investment 

(b) Unusual work 

(c) Misuse of money 

(d) None of these 
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19. The father of scientific management was 

(a) W. Taylor 

(b) Urvik 

(c) Henry Feyol  

(d) Kimbal 

 

20. The function of planning management is 

(a) Primary 

(b) Secondary 

(c) Territory 

(d) All these 

 

21. It is available at overdraft from bank 

(a) On saving A/c 

(b) On current A/c 

(c) On fixed deposits 

(d) None of these 

 

22. The sources of commercial credits is  

(a) Long term finance 

(b) Mid term finance 

(c) Short term finance 

(d) None of these 

 

23 . In following is not a consumer product? 

(a) Raw materials 

(b) Refrigerator 

(c) Old scriptures 

(d) Shoes 
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24. The law of consumer protection passed in 

(a) 1786 

(b) 1886 

(c) 1996  

(d) None of these 

 

25. In India the programme of entrepreneurship development is 

(a) Necessary  

(b) Unnecessary 

(c) Time 

(d) None 

 

II. In question nos. 26 to 30 there are two statements (statement I and statement II) given 

for each question. You have to read both the statements and choose the correct answer 

from the options (a), (b). (c) and (d). 

26. Consider the following statements :  

Statement-1: Management is an art.  

Statement-II: Art refers to theoretical application of knowledge. 

Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement 1. 

 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I.  

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

27. Consider the following statements: 

Statement – I : Management theory is universal.  
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Statement - II : The scope of management is limited. 

Of these statements:  

(a) Both the statements are true and statement II is the correct explanation of statement I.  

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

28. Consider the following statements:  

Statement-I: Planning is a mental work. 

Statement-II: Planning is forcecasting. 

Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

29. Consider the following statements: 

Statement – I : Supervision is an element of direction.  

Statement – II : Supervision is low level management.  

Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement I.  

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I.  

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 
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30. Consider the following statements: 

Statement – I : Training is a continuous process.  

Statement - II : Training is necessary at all levels of management. 

Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I.  

(c) Statement I is true, but statement II is false.  

(d) Statement I is false, but statement II is true.  

 

III. In the following question nos. 31 to 34, there are two columns. Column I contains 4 

items. You have to match the correct options of these questions as (a), (b), (c) and (d) 

from Column-II : 

Column-I    Column-II 

31. Direction  (a) Protection policy and procedure of moral values. 

32. Controlling   (b) Right to affected the procedure of bank 

33. RBI   (c) Compare real work to authorised with 

34. Morality   (d) Effect human behaviour 

 

IV. In question no. 35 there is a paragraph followed by three questions. You have to 

choose the correct answer from the alternatives on the basis of the paragraph: 

35. Company is a voluntary organisation registed under company act, 1956. For 

registration of company, Memorandum of Association. Articles of Association and 

prospectus are required. Company raises the fund by issue of equity shares, preference 

shares, and debentures as long term finance. The minimum number of shareholders in a 

private co. is 2 and in public company is 7. The maximum number of shareholders in a 

private company is 50 and in public unlimits. 
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1. A company is registered under an act of 

(a) 1956 

(b) 1932  

(c) 1912  

(d) All these  

 

II. Company obtains long term capital by 

(a) bank 

(b) creditors 

(c) public deposits 

 (d) Debentures 

 

III. In a public company the minimum number of shareholders are 

(a) 9 

(b) 7 

(c) 50 

(d) 2 

SECTION-B 

Question nos. 1 to 10 are of short answer type. Each question carries 3 marks: 

1. What is the role of profit/advantages in business. 

2. Discuss three advantages of partnership business. 

3. Define business company. 

4. What is Prospectus ? 

5. Define internal trade. 

6. What is skill in management ? 

7. What is function of stock marketing? 
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8. Explain the advantages of Management. 

9. What do you understand by scientific management ? 

10. What is financial management? 

 

Question nos. 11 to 15 are of long answer type. Each question carries 6 marks: 

11. Differentiate between Memorandum of Association and Article of Association. 

12. Discuss the social responsibility/obligation of business. https://www.bsebstudy.com 

13. What do you understand by Communication? Discuss the process. 

14. Differentiate between Centralisation and Decentralisation. 

Or 

Write difference between shares and debentures.  

15. Explain the qualities of good leader. 

Or 

Discuss the different steps of selection. 

 

 
********** 
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